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Time Allowed ;: Three Hours Maximum Mnrks : 100

Write your roll number on question paper before start writing answers of questions. No supplementary
answer-book will be given to any candidate, hence the candidates should write their answers precisely.
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Answers of all the questions (very short answer, short answer as well as descriptive) are to be given in the main
answer-book only. Answers of Short answer type questions musl be given in sequential order. Similarly all the

parts of one question of descriptive part should be answered at one place in the answer-book. One complete
questior should not be answered at different places in the answer-book.
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PART-1 SHORT ANSWER
Maximum marks ; 40

The first compulsory question consisting of 20 marks, comprising of 10 very short answer type questions of 2
marks each. The anstver to each question should be not exceed 20 words. The second compulsory question will

be 20 marks. It will comprise of 10 short answer type quest iark.s each.” The candidate will be required
to answer any § questions. The answer to each question should not exceed 50 words.
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©are the writers of the following books -
@  Divine Comedy
. (b) The P}Jnce
\

ﬁrﬂfﬁf@agm’qﬁ%é@m#%:
(&) feams =
(F) =2 firg

y)/ What do you mean by Indulgence ?

ra faEas = | og =1y HoFg €2
)ﬂ/ Where did industrial revolution begin ?
- -~ e W, &
i wifd =7 Yreoma =i g B2
\.4’4 What is Third Estate ?
AT wT I E?

\_/(V)/ By which war the unification of Germany become possible ?
T8 33 ¥ orr s = TR0 Googg T3 2

y Write any two problems of the unification of Ttaly.
T CHRIFT FT Rl S e wy fefed

‘(&:ii')/:&’hat do you understand by the Eastern Question ?
IS W % AR g v &2

\J}ﬁﬁ)/ Discuss two causes of the Soviet Disintegration.
_ Hifeaa w9 ¥ fawey $ 2 s RS |

Jx)/:vhat is cold war ?

A gs w2
\-{ﬂ()/‘\What do you mean by the word ‘Fascio’ ?
"EfE = @ e wa w2
2. - (1)

Describe the causes of reformation in Europe.

iy § U YUR TR ¥ O 1 g0 FE |

()  What were the results of continental system ?
eI wonett ¥ =41 wiomsy TQ?
(i)  Write down about Council ofTren?O
Flfos ofw Y= e fafad
Gv)  Whatdo you understand by Boston Tea Party ?
T A wH § 3 s ¥?
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) What is Zollverine ?
et Fn R ?

(vi) Whowas Dr. Sun-Yat-Sen ?
IR A2

(vii) What do you understand by Young Italy ?

7 Fee & AR H 39 W I ¥

~/((1§-“"rit0 the causes of the World Economic Depression,
fava s =t & Frow fafed A

What do you understand by Third World ?
gata fava % SR A 39 71 o §2

(7/\'»'1-ite four objects of U.N.O.
HgE UL §9 & 9N R fafed )

PART-II DESCRIPTIVE
Maximum marks : 60

(i)

Attempt three questions in all selecting one question from each Section. All questions carry equal

marks.
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SECTION-A/WUS-H

“The Age of Renaissance in Europe is notable for its rich contribution in the field of art and literature”.
Explain the statement. 10+10=20
e G e % @ dmer A9 F ST 0 1 waifis weero et ¥ 56 YA Hi e
FHifad |

. / What is meant by Industrial Revolution ? Give an account of the changes introduced by it in agriculture
andindustry. htips://www.uoronline.com 5+7+8=20
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SECTION -B/WvUs -¥

5. Discuss the role of Mazzini, Garibaldi and Cavour in the unification of Italy. T+1+6=20
Techt & Tt I AR, Hraredt qur e ¥ drre a1 R FIR |
6. Describe the process of modernization in Japan and underline the contribution of Mutsuhito. 20
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SECTION - C/Tvg -H

7. Evaluate the causes and consequences of the communist revolution (1917) in Russia. 10+10=20
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8 qim“ the. different organs of the U.N.0. and their work.
IR, 0 % faer 3 e 5 ol s o R
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